A eBEFOENZA

-HERIT2019F 101 BURICHRFHULI-EEDERZA (FE)
CREOBRICIE., AERESENDETT,
He 3 BE EBEIEEREDH (Bifir: M)
S EREPR
BER &L BEE &L
Bht-A 5,310 2,650 6,720 3,360
AR BEASELEE 5,310 2,650 6,720 3,360
J) = EELEE 0 0 0 0
Bht-A 5310 2,650 6,720 3,360
EIEC ] BEASELEE 5,310 2,650 6,720 3,360
JU—¥EiLE 0 0 0 0
He R4 (FE kY BREJV—VEDH
OItpEHE (BAE: /M)
PN AR =i AR
BER &L =
BhtzA 3,070 2,140
WIS E BEASELEE 1,860 930
JU—¥EiLE 1,210 1,210
BhtzA 3,070 2,140 2,140
=58 e e L 1,860 930 1,860 930 1,860 930
JU—¥EiELE 1,210 1,210 1,210 1,210 1,210 1,210
BREA 3,250 2,150 3,250 2,150 3,250 2,150
HE BaHSHELE 2,200 1,100 2,200 1,100 2,200 1,100 1,860 930
JU—¥EiLE 1,050 1,050 1,050 1,050 1,050 1,050 1,210 1,210
BRiEA 3,250 2,150 3,250 2,150 3,250 2,150 3,070 2,140
fimiL e e L 2,200 1,100 2,200 1,100 2,200 1,100 1,860 930
=¥ EiLEs 1,050 1,050 1,050 1,050 1,050 1,050 1,210 1,210
BREA 3,250 2,150 3,250 2,150 3,250 2,150 3,070 2,140
=/ BEaASESEE 2,200 1,100 2,200 1,100 2,200 1,100 1,860 930
Y=y EiaLiEs 1,050 1,050 1,050 1,050 1,050 1,050 1,210 1,210
BREA 3,390 2,220 3,390 2,220 3,250 2,150 3,250 2,150
ERER BEaASESEE 2,340 1,170 2,340 1,170 2,200 1,100 2,200 1,100
) — ¥l E L% 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,390 2,220 3,390 2,220 3,390 2,220 3,250 2,150
INERR BEaASESEE 2,340 1,170 2,340 1,170 2,340 1,170 2,200 1,100
Y=y EiaLiEs 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,390 2,220 3,390 2,220 3,390 2,220 3,250 2,150
U BEaASESEE 2,340 1,170 2,340 1,170 2,340 1,170 2,200 1,100
JY— et 2Es 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,390 2,220 3,390 2,220 3,390 2,220 3,390 2,220
WE BEaASESEE 2,340 1,170 2,340 1,170 2,340 1,170 2,340 1,170
Y=y Ei2Es 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,390 2,220 3,390 2,220 3,390 2,220 3,390 2,220
&R BEaASESEE 2,340 1,170 2,340 1,170 2,340 1,170 2,340 1,170
JU—"eE L 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,590 2,320 3,590 2,320 3,590 2,320 3,590 2,320
R e e e 2,540 1,270 2,540 1,270 2,540 1270 2,540 1,270
U= e L 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,590 2,320 3,590 2,320 3,590 2,320 3,590 2,320
FERK e e e 2,540 1,270 2,540 1,270 2,540 1,270 2,540 1,270
JU—"eE L 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,590 2,320 3,590 2,320 3,590 2,320 3,590 2,320
=17 P 3 e e e 2,540 1,270 2,540 1,270 2,540 1270 2,540 1,270
JU—"eE L 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,590 2,320 3,590 2,320 3,590 2,320 3,590 2,320
FIVEX e e e 2,540 1,270 2,540 1,270 2,540 1270 2,540 1,270
JU—"eE L 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,770 2,410 3,770 2,410 3,590 2,320 3,590 2,320
B 4#%#4%*9 EL 2,720 1,360 2,720 1,360 2,540 1270 2,540 1,270
e 8 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,770 2,410 3,770 2,410 3,770 2,410 3,590 2,320
tEX e e e 2,720 1,360 2,720 1,360 2,720 1,360 2,540 1,270
)= R EHEEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 3,770 2,410 3,770 2,410 3,770 2,410 3,590 2,320
MERRX et e EL 2,720 1,360 2,720 1,360 2,720 1,360 2,540 1,270
)= R EHEEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 5,170 3,630 5,170 3,630 5,170 3,630 5,170 3,630
e I R ET ] 1,200 600 1,200 600 1,200 600 1,200 600
el |ERgII—UHEELE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
RS asEmLE| 1,870 930 1,870 930 1,870 930 1,870 930
HHIRT i 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BREA 5,170 3,630 5,170 3,630 5,170 3,630 5,170 3,630
e I R ET ] 1,200 600 1,200 600 1,200 600 1,200 600
Bl |EERTV—HERLE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
RS asEmLE| 1,870 930 1,870 930 1,870 930 1,870 930
FErmy Uy EXCEL 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
X TR & REDIRVLLAHEE (KA200M, /NAT00A) ZE5 T
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PV _EE
bRifA 2,250 1,650
MRl | BEEHEEISE 1,200 600
J)— L 1,050 1,050
bRifA 2,250 1,650
bt BEaHEHELSE 1,200 600
J)—H L 1,050 1,050
bRifA 2,250 1,650
S BEaHEHELSE 1,200 600
J)— R LE 1,050 1,050
bRifA 2,250 1,650
PRt BEaHEHELSE 1,200 600
g H L 1,050 1,050
bRiA 2,300 1,670
ik BaHEHELSE 1,250 620
g el 1,050 1,050
bRiA 2,300 1,670
fEnss BaHEHELSE 1,250 620 1,200 600 1,200 600 1,200 600
g el 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
bBRiA 2,360 1,700 2,300 1,670 2,300 1,670 2,250 1,650
s BaHEHELSE 1,310 650 1,250 620 1,250 620 1,200 600
g HErliE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
bRiA 2,360 1,700 2,300 1,670 2,300 1,670 2,300 1,670
#24FEI BaHEHELSE 1,310 650 1,250 620 1,250 620 1,250 620
g el 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
bBRiA 2,360 1,700 2,300 1,670 2,300 1,670 2,300 1,670
BR BaHEHELSE 1,310 650 1,250 620 1,250 620 1,250 620
g el 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
bBREA 2,360 1,700 2,300 1,670 2,300 1,670 2,300 1,670
% BaHEHELSE 1,310 650 1,250 620 1,250 620 1,250 620
g el 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
bRiA 2,360 1,700 2,360 1,700 2,300 1,670 2,300 1,670
AsR BEHEHEIE 1,310 650 1,310 650 1,250 620 1,250 620
J)— R EELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BRtzA 2.360 1,700 2.360 1,700 2.360 1,700 2.360 1,700
BR BEHEWEIE 1,310 650 1,310 650 1,310 650 1,310 650
J)— U ErELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BRtzA 2.360 1,700 2.360 1,700 2.360 1,700 2.360 1,700
o EE BEHEWEIE 1,310 650 1,310 650 1,310 650 1,310 650
J)— R EELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BRtzA 2.360 1,700 2.360 1,700 2.360 1,700 2.360 1,700
At BEHEWEIE 1,310 650 1,310 650 1,310 650 1,310 650
J)— U ErELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BRtzA 2.360 1,700 2.360 1,700 2.360 1,700 2.360 1,700
R BEaHEEIE 1,310 650 1,310 650 1,310 650 1,310 650
J)— R EELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
BRtzA 2.360 1,700 2.360 1,700 2.360 1,700 2.360 1,700
= BEHEHEIE 1,310 650 1,310 650 1,310 650 1,310 650
g = ErELEE 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
(Ol iR vl = (B )
Y= &
BRht-A 1,450 980
PN BEaHEMEIE 930 460
J)— i EEnEE 520 520
Bht-A 1,450 980
AR BEaHEMEIE 930 460
J)— e nEE 520 520
Bht-A 2910 1,980
(ITE=) BEaHEMEIE 1,860 930
J)— e nEE 1,050 1,050
Bht-A 2910 1,980
KiE BEaHEMEIE 1,860 930
J)— e nEE 1,050 1,050
Bht-A 2910 1,980
A BaHEHIE 1,860 930
J)— e nEE 1,050 1,050
Bht-A 2910 1,980
=i BEaHEMEIE 1,860 930
)= EEnEE 1,050 1,050
| BhiA 2,910 1,980
SFW BEaHEHESE 1,860 930
)= e nEE 1,050 1,050
| BhiA 2,910 1,980
Epim BEaHEHESE 1,860 930
J)—EEnEE 1,050 1,050
| BhiA 2,910 1,980
3T\ BEaHEHESE 1,860 930
)= e nEE 1,050 1,050
| BhiA 3,250 2,150
ER BEaHEHESE 2,200 1,100
)= e nEE 1,050 1,050
| BhiA 3,250 2,150
KR SHEHEDE 2,200 1,100
J)—EEnEE 1,050 1,050




1,010
fBHEIL 490 . ] .
520 520 520 520 1,050 1,050 1,050 1,050 1,050 1,050
2,480 1,760 2,480 1,760 2,480 1,760 2,480 1,760 2,480 1,760
FOEW 1,430 710 1,430 710 1,430 710 1,430 710 1,430 710
1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
2,480 1,760 2,480 1,760 2,810 1,930 2,810 1,930 2,480 1,760
AN 1,430 710 1,430 710 1,760 880 1,760 880 1,430 710
1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
2,480 1,760 2,480 1,760 2,810 1,930 2,810 1,930 2,810 1,930
IR 1,430 710 1,430 710 1,760 880 1,760 880 1,760 880
1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
2,480 1,760 2,480 1,760 2,810 1,930 2,810 1,930 2,810 1,930
15| 1,430 710 1,430 710 1,760 880 1,760 880 1,760 880
1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
2,810 1,930 2,810 1,930 2,810 1,930 2,810 1,930 2,810 1,930
HIER R 1,760 880 1,760 880 1,760 880 1,760 880 1,760 880
1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050 1,050
IS AT - HE _ (BA: M)
fid |
BEL _EE )
BRtzA 2,910 1,980
A BaHEHIE 1,860 930
J)— R EELEE 1,050 1,050
BRtzA 2,910 1,980 ) )
i) BEaHEEIE 1,860 930 1,860 930
J)— R EELEE 1,050 1,050 1,050 1,050
BRtzA 3,250 2.150 2,910 1,980
BEXRLL BERHEHLE 2,200 1,100 1,860 930
J)— R EELEE 1,050 1,050 1,050 1,050
BRtzA 3,250 2.150 2,910 1,980
KF BEaHEEIE 2,200 1,100 1,860 930
J)— U ErELEE 1,050 1,050 1,050 1,050
BRtzA 3,250 2.150 3,250 2.150
3 BEaHEEIE 2,200 1,100 2,200 1,100
J)— R EELEE 1,050 1,050 1,050 1,050
BRtzA 3,250 2.150 3,250 2.150
WL BEHEEIE 2,200 1,100 2,200 1,100
J)— U ErELEE 1,050 1,050 1,050 1,050
BRtzA 3,250 2.150 3,250 2.150
EERR BaHEMEIE 2,200 1,100 2,200 1,100
J)— e nEE 1,050 1,050 1,050 1,050
Bht-A 3,470 2,260 3,250 2,150
RE BEaHEMEIE 2,420 1,210 2,200 1,100
J)— e nEE 1,050 1,050 1,050 1,050
Bht-A 3,470 2,260 3470 2,260
HEM BEaHEMEIE 2,420 1,210 2,420 1,210
)= EEnEE 1,050 1,050 1,050 1,050
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